Multiplying and Dividing Decimals

Homework

Name

nEY

What has 12 HUMPS and lives at the NORTH POLE ?
% % %K K 10 ANSWER THIS QUESTION: 3K K K ¥

(0.3)(-0.4) =

%k %k %k %k %k

% THE ANSWER TO THE TITLE QUESTION.

*r’ v 7

x(2) (6)(-0.002) =
+(3) (0.01)(120) =

*(a) (-0.04)(0.03) =

*(5) (-0.04)(6) =

****************************

Do the problems on the left on a SEPARATE piece of
paper. Find the answer to the question on the left
where the letters are on the right. Then solve the
puzzle.

KEEP WORKING AND YOU WILL DISCOVER

% % X %

%k 3k 3k 3k %k 5k 5k 5k 3k >k 3k 5k 5k %k 5k %k %k %k %k %k %k %k %k *k k

*(8) (-24)(-0.01) =
* (8)(-0.003) =
*0144 6
§ 7.2 +(-0.3)
*(10)-1.6+0.8
*
*(11) -0.04 + (-20)
*014—(07)
13)-0.16 +(-0.8)
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